SHY/SHZ Series Gripper SHY/SHZ Series Gripper

Specifications

SHY:

\  Acting type Double acting/Single acting

Working medium Clean Air(40 u m filteration)

s Double 10 0.15~0.7MPa(22~100psi)(1.5~7.0bar)

" Applicable  acting D16~D25 0.1~0.7MPa(15~100psi)(1.0~7.0bar)
SHYSA: Prossi® si I ®10 0.3~0.7MPa(45~100psi)(3.0~7.0bar)
Single acting (N.O.) range  Single e el

acting ©16~®25 0.25~0.7MPa(36~100psi)(2.5~7.0bar)
Working temperature(‘C) -20~80
Qil No need
Maximum frequency 180(C.P.M)
Port size M3X0.5 M5X0.8
Weight(g) 42 94 174 303
t How to order? . Internal Structure
Series  — Type No. —— Bore — Magnet No.
SHY:Y type gripper Blank: Basic type 10 S : With magnet
SA: Single acting (N.O.) 16 (always with magnet) 1 2345678 910 1 12 13 14 15
20
25 %ﬂ ]
SHY Series Air Gripper,Bore25,with magnet,ERP code is:SHY25-S \ \ \\M !\/\é / 1 ‘/ :

E Product Features J S

1. Single piston structure, large gripping torque.
2. Integrated with variable throttle valve, easy to adjust the gripping jaw opening & closing speed. T @
3.Reasonable gripping angle, wide range of application. / 7
4.Accurate positioning accuracy, itis more accurate and reliable when gripping workpiece.
5.Multi mounting type, convenient for use in different application.

6.All series with magnet, easy to control.

11 Theoretical Clamping Torgue IR T T T S T N

1 Rear cover Aluminum alloy Hexagon socket set screw Carbon steel
N ) 2 C type retainer ring Spring steel 13 Pin Stainless steel
Closure clamping torgue | Open clamping torgue 4 Piston Aluminum alloy/Stainless steel(® 10) 15 Claw Cast steel
SHY10 17.6XP 29.4XP 5 Piston seal NBR 16 Barrel Aluminum alloy
Double acting 2::;3 1§2§: ;?2);: 6 Magnet Plasic 17 Steél ball Stainless steel
SHY25 304XP 473XP 303 108 7 Plstf)n rod Aluminum alloy/Stainless steel ( ®10, ®16) 18 O-ring NBR
SHYSA10 11.8XP - 8 O-ring NBR 19 Buffer screw Brass
Single acting (N.0) SHYSA16 71.2XP - 9 Anti-bump cushion PTEE 20 Ofring‘ : NBR
SHYSA20 122.4XP - 10 Hexagon socket cap screw Carbon steel 21 Buffer fixing screw Brass
SHYSA25 252XP - " Piston rod seal TPU/NBR(®25) 22 Hexagon nut Carbon steel

Note: In the above table, "P" represents the actual use of pneumatic pressure, unit: Mpa



ﬁﬁ F.+MC  SHY/SHZ Series Gripper

Y Series

2-D2
L
P
oL
&
K
©10
’_L.

F‘l?
06
7

»
g
N

4

S
—i

-

0

= e

©16~025

Closed pores

]

AL
Q |openpores
R

[N
ell ]

by

1

@
—
Ef

A

I
WA s 1 o
ot o o
5 L
4O\ c

D

Al
; i fc\csed Ifc es
) j

< # O
o

R

Al
Open pores

©16~025

———-——-

SHY10
SHY16
SHY20
SHY25

SHY10
SHY16
SHY20
SHY25

M3X0.5 38.6
M5X0.8 44.6
M5X0.8  55.2
M5X0.8  60.4

30
30°
30°
30°

24.5
29
30

22
32
40

M3X0.5Depth6  35.8  M2.5X0.45

M4X0.7Depth5.5 39.7  M3X0.5
M5X0.8Depth8  49.7  M4X0.7
M6X1.0Depth10  54.8 M5X0.8

15
18
22

2346
27.6
33.6

®11Depth1.5
®17Depth1.5
®21Depth1.5
®26Depth1.5

12.5
16.5
20.5
275

14.2 17.2  M3X0.5Depth6 M3X0.5Depthe  52.8

18.9 23.6 M4X0.7Depth9.5 M4X0.7Depth8  63.5 24
23.5 29  M5X0.8Depth11.5 M5X0.8Depth10  78.7 30
32.8 38.5 M6X1.0Depth14.5 M6X1.0Depth12 93.2 36

-l--l-_ll-lﬂ-ﬂ-—-—__
10 8.8

11.4 16

16 30 13 6.5 18.3 10 24 B 4 7
186 35 15 7 222 10° 30 10 5.2 9
22 365 195 74 235 10° 36 12 8 12

SHY/SHZ Series Gripper ﬁ% E-MC

[ installation and Use

1.In case of pressure decrease due to emergency situation, cause the work piece fall down by lower
clamping force, so should install falling prevention device to avoid hurt human body and equipment
damage.

2. Don'tuse air gripper upon strong external force and impact force.
3. When install and fix the air gripper, avoid falling down, collision and damage.
4.Don't reverse clamping gripper when you install clamping parts.

5.There are several kinds of installation way, and the locking torque of fastening screw must be within
the prescribed torque range shown in below chart. If the locking torque too large, it will cause the
dysfunctional. If the locking torque too small, it will cause the position deviation and fall.

10 M3X0.5 0.88 6 ¢ 11H9 1.5
16 M4X0.7 21 8 ¢ 17H9 1.5
20 M5X0.8 4.3 10 $21H9 1.5
25 M6X1.0 7.3 12 ¢ 26H9 1.5

= The hole on the tail is for
(1| = mounting and positioning

10 M3X0.5 0.69 5
e | _I: 16 M4X0.7 2.1 8
; 20 M5X0.8 43 10

[l 25 M6X1.0 7.3 12

10 M2.5X0.45 0.49
16 M3X0.5 0.88 8
20 M4X0.7 2.1 10

25 M5X0.8 4.3 12




SHY/SHZ Series Gripper SHY/SHZ Series Gripper

SHZ:
Standard double acting

__II T, @

Max.Locking Torque

SHZSA:
Single acting (N.O.)

SHZSB:
| Single acting (N.C.)
6. Clamping Jaw Installation: Please be attention, you could only hold the gripping .
jaw by spanner, and then lock the screw by hex wrench.
Never clamp the body directly and then lock the screws,
otherwise the parts will be easily damaged.
ow to order?
Bore Series - TypeNo. ——— Bore — Magnet No.
10 M2.5X0.45
16 M3X0.5 ‘
20 M4x0.7 1.4 SHZ: Blank: Basictype 10 S : With magnet
25 M5X0.8 2.8 Parrallel air gripper SA: Single acting (N.O.) 16 (always with magnet)
SB: Single acting (N.C.) 20
25

Parrallel air gripper,Bore 20,with magnet,ERP code is:SHZ20-S

-oduct Features

7. When gripping workpiece, the workpiece must be located in the center line of the two gripping

. N . ; . . " 1.Integrated design of linear guide rail,high rigidity,high precision;
Jaws' and the two gripping jaws should touch the workpiece at the same time, otherwise will be 2.Posi£:ioning pingt the botto?n of the Iinegr gugide ?’lail,geff?acienlly preventing deviation of guide rail from the body;
easily damaged. 3.Deeper attached fixing benchmark centering hole, improving fixing accuracy, and improving consistency
8. Make sure that there is no external forces exerted on the gripping jaw. Transverse load acts on after repeated dismounting and fixing
the gripping jaw, will cause impack load and cause gripper jaw shaking and damage. Equip with 4.According to the actual requirements of the customer ,the initial position of the claw
gaps so that the air gripper will not crash into work—pieces and accessories at the end of its trip. can be customized to meet the different needs under different working conditions,
9. When the workpiece are inserted, the centerline should be coaxial, no offset, in case there are
external force generated on gripping jaw. When testing, it is specially required to reduce the Iamping Force and Stroke

pressure for low speed running, to guarantee the safety and no impact.

10. Please use the flow control valve to adjust the opening and closing speed to be sure not too fast. _
X X . Acti pe Type Clamping force effective value of single air finger(N) Stroke(two sides)
11. People could not enter the movement path of air gripper, do not put anything on the path too. : - e & T R ) (mm)
12. Before remove the air gripper, please make sure it is out of working state, and then discharge of 4

6

17
compressed air. 45

SHZ10

Double acting SHA1S

SHz20 68 10
SHz25 102 14

SHZSA10 7 - 4

N.O) SHZSA16 27 = 6

SHZSA20 35 - 10

Single acting SHZSA25 55 = 14
(42 SHZSB10 - 13 4
NGC) SHZSB16 - 38 6

SHZSB20 - 59 10

SHZSB25 - 87 14

Note: The value of the clamping force in above table is when the working pressure is 0.5Mpa
and the L value of the clamping pointis 20mm.



SHY/SHZ Series Gripper

Specifications

SHY/SHZ Series Gripper

ﬁ Dimensions

Acting type Double acting/Single acting
Workong medium Clean Air(40 u m filteration)
Double  ©10 0.15~0.7MPa(22~100psi)(1.5~7.0bar)
/';1:2515 acting 14~ 25 0.1~0.7MPa(15~100psi)(1.0~7.0bar) =
range  Single ~ ®10 0.3~0.7MPa(45~100psi)(3.0~7.0bar)
acting ©16~025 0.25~0.7MPa(36~100psi)(2.5~7.0bar)
Working temperature ( °C ) —-20~80 K 2-y
; | /Depth Y3 4-Y
Oil No need }ﬁ% j Dopth Y1
Repeat precision(mm) +0.01 L T M 4| fos %
Maximum frequency 180(C.P.M) b ol o S |
o o
Port size M3X0.5 M5X0.8 > ﬁ* y e I I e
= e > S| o A
Weight (g) 52 120 236 430 r < | ©
ro L A
K3 H
Internal Structure L] o e B
L E
z z
[Closed pores  /Open pores
1 2 3 A\E\é\ ZJ 7 7 10 11 fg 13 14 15 17
RO e yal
NANNNE > !
. = O,
P
ild [ ‘ SHZ10 23 376 6 123 29 450 164 11"""uspmz 7 188 1o 52 2% bopih
SHz16 30.6 425 7.5 155 673 38 5% 245 24 22 15 236 179%0epnz 71 185 13 11 65 3% Depn3
SHz20 42 528 95 207 847 50 8% 29 30 32 18 27.6 219%0epns 84 23 15 168 7.5 4% Deptns
SHz25 52 636 11 255 1027 63 10%, 30 36 40 22 336 260%Deptha s 95 235 195 21.8 10 49%Deptns
A A T T
© QIName gena SINEMS ateria SHZ10 114 27 M25X045 3 590 57  M3X05 M3X0.5 14.87 11.43,
1 Rear cover Aluminum alloy Piston rod seal TPU/NBR(®25) SHZ16 16 30  M3X05 4 8% 7 M4x07 95 5.5 8 M5X0.8 20.8% 14.83;
2 C type retainer ring Spring steel [Fln Stalnlessistaal SHZz20 186 35  M4X07 5 10505 M5X0.8 115 8 10 M5X0.8 26 % 16.2.3,
3 O-ring NBR Hexagon set screw Carbon steel SHz25 22 365 M5X0.8 6 28, 12 MBX1.0 145 10 12 M5X0.8 3357 19.23,
4 Piston Aluminum alloy/Stainless steel(® 10) 14 Hexagon socket cap screw Carbon steel
5 Piston seal NBR 15 Pin Stainless steel
6 Magnet Plasic 16 Bent lever Alloy steel
7 Piston rod Aluminum alloy/Stainless steel ( ®10, ©16) 17 Clamping jaw assembly Assembly
8 O-ring NBR 18 Barrel Aluminum alloy
9 Anti-bump cushion PTEE 19 Pin Stainless steel
10 Hexagon socket cap screw Carbon steel



a$t E-MC‘V SHY/SHZ Series Gripper SHY/SHZ Series Gripper a&ﬁ‘ E-MCV

1.97 SHZ Series SHZ Series 1.98
0 instalaton and Use

1.In case of pressure decrease due to emergency situation, cause the work piece fall down by lower
clamping force, so should install falling prevention device to avoid hurt human body and equipment damage.

S I e
2. Don't use air gripper upon strong external force and impact force. M3X0.5 0.9 6
3.When install and fix the air gripper, avoid falling down, collision and damage. - ;g m’;gj; ;g 485
4.Please contact with us when the single acting type gripper only with spring clamp force. 25 M6X1. 0 5.9 10
5.Don't reverse clamping gripper when you install clamping parts. e ©
6.There are several kinds of installation way, and the locking torque of fastening screw must be within the
prescribed torque range shown in below chart. If the locking torque too large, it will cause the dysfunctional. 7. Clamping Jaw Installation: Please be attention, you could only hold the gripping

If the locking torque too small, it will cause the position deviation and fall. jaw by spanner, and then lock the screw by hex wrench.

Never clamp the body directly and then lock the screws,
otherwise the parts will be easily damaged.

PR - - B . -
Tail Positioning [ Tail itionir

4; ! B m" |Depth(mm)
011 0% 2 10 M2.5X0.45 0.31
o | ) 617°3% > 16 M3X0.5 0.59
i 0218 3 20 M4X0.7 1.4

5

ofl ! |le 02600 35 25 M5X0.8 2.8

‘ mounting and positioning External Arm

8.Make sure that there is no external forces exerted on the gripping jaw. Transverse load acts on the
gripping jaw, will cause impack load and cause gripper jaw shaking and damage. Equip with gaps
so that the air gripper will not crash into work-pieces and accessories at the end of its trip.

8.1 The air gripper end of stroke in open status

\/ NQ x Impact load

©
®
10 M3X0.5 s
16 M4X0.7 &z &t ?
20 M5X0.8
25 M6X1.0 L i T o !
s

Gap

f
{
Z

8.2The air gripper end of stroke in moving status.

There are gaps.

=
10 M2.5X0.45 0.49 5 = 8 ® L
16 M3X0.5 0.88 8 = o ]
20 M4X0.7 2.1 10
25 M5X0.8 4.3 12 Impact load

Gap

There are gaps.

There aren’t gaps.




®
i} F+«M(C  SHY/SHZ Series Gripper

1.97 SHZ Series

8.3 Reverse motion state

when reverse motion state, the gripping point must be precision, otherwise in the reverse motion
state the air gripper maybe impact with ambience and will cause impact load.

a
©
o

Impact load

9. When the workpiece are inserted, the centerline should be coaxial, no offset, in case there are

external force generated on gripping jaw. When testing, itis specially required to reduce the pressure
for low speed running, to guarantee the safety and no impact.

=t Vo

] ]

—

P77 L Lead

'

[

77 Impact load

Center coaxial Center offset

10. Please use the flow control valve to adjust the opening and closing speed to be sure not too fast.
11. People could not enter the movement path of air gripper, do not put anything on the path too.

12. Before remove the air gripper, please make sure it is out of working state, and then discharge of
compressed air.




<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /Description <<
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000500044004600206587686353ef901a8fc7684c976262535370673a548c002000700072006f006f00660065007200208fdb884c9ad88d2891cf62535370300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef653ef5728684c9762537088686a5f548c002000700072006f006f00660065007200204e0a73725f979ad854c18cea7684521753706548679c300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /DAN <>
    /DEU <>
    /ESP <>
    /FRA <>
    /ITA <>
    /JPN <>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020b370c2a4d06cd0d10020d504b9b0d1300020bc0f0020ad50c815ae30c5d0c11c0020ace0d488c9c8b85c0020c778c1c4d560002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken voor kwaliteitsafdrukken op desktopprinters en proofers. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /PTB <>
    /SUO <>
    /SVE <>
    /ENU (Use these settings to create Adobe PDF documents for quality printing on desktop printers and proofers.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /NoConversion
      /DestinationProfileName ()
      /DestinationProfileSelector /NA
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure true
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles true
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /NA
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /LeaveUntagged
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


